“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
KR RAR RREFEHRE2— AMBERH (8) 30 31 30 31 31 30 30 30 31 31 28 31
8 7E B (B5FE) 715 739 715| 740 738 716| 730| 713| 739 741 e668| 739
ATy{E (ppm) | 0.007 [ 0.005 | 0.006 | 0.006 | 0.006 | 0.005 | 0.004 [ 0.005 | 0.004 | 0.004 | 0.005 | 0.006
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.022 | 0.023 [ 0.020 [ 0.031 [ 0.019 | 0.022 | 0.011 | 0.015| 0.016 | 0.017 | 0.013 [ 0.021
BEHEORSIE (ppm) | 0.010 | 0.010 [ 0.010 | 0.009 | 0.013 | 0.010 [ 0.006 [ 0.010 | 0.009 | 0.010 | 0.008 | 0.012
AL X [BFE/NER AUAEBRH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E BE R (BERS) [ 715 | 741 | 718| 742 741 75| 742 715 742 740| 670 739
AEHE (ppm) | 0.006 | 0.006 [ 0.006 | 0.005 | 0.007 | 0.006 | 0.004 [ 0.004 | 0.003 | 0.003 | 0.003 [ 0.006
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.018 [ 0.023 [ 0,022 | 0.024 | 0.024 | 0.017 | 0.013 | 0011 | 0013 | 0.014| 0.011 | 0.036
BEHEORSIE (ppm) | 0.009 [ 0.009 [ 0,010 | 0.010 | 0.012 | 0.009 [ 0.007 [ 0.008 | 0.008 | 0.007 | 0.007 | 0.020
ABRATHLIER BELIER & AR AMAEBH (8) 30 31 30 30 31 30 31 30 31 31 28 31
i 7E B (BsFEDD 716 | 742| 718 736 740 717| 740 T718| 7M1 742 | 668 | 742
AEHiE (ppm) | 0.008 [ 0.007 | 0.009 | 0.008 | 0.008 | 0.005 | 0.004 [ 0.004 | 0.003 | 0.003 | 0.004 | 0.005
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.027 | 0.029 [ 0.023 [ 0.030 | 0.036 | 0.019 | 0.015| 0.019 | 0.014 | 0.019 [ 0.016 | 0.027
BTEHENRESIE (ppm) | 0.013 | 0.011 [ 0.013 | 0.015| 0.018 | 0.013 | 0.007 | 0.010 | 0.008 | 0.008 | 0.008 [ 0.012




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
ABRATKIER TRE/IMER AMBERH (8) 30 31 30 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 717 738 718| 742 740 717| 737 715| 742 737| 670| 741
ATy{E (ppm) | 0.007 [ 0.006 | 0.008 | 0.008 | 0.008 | 0.006 [ 0.005 | 0.005 | 0.004 | 0.004 | 0.005 | 0.006
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.031 | 0.030 [ 0.028 [ 0.033 | 0.027 | 0.023 | 0.024 | 0.021 | 0.015 | 0.023 [ 0.024 | 0.029
BEHEORSIE (ppm) | 0.011 | 0.012 | 0013 | 0018 | 0014 | 0.012 | 0.008 [ 0.011 | 0.008 | 0.010 | 0.012 | 0.015
KirmhdEE/IX AR AUAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E BE R (BRS) [ 717 740 718| 741 | 741 75| 741 | 715 742 742 666 742
AEHE (ppm) | 0.007 [ 0.006 | 0.008 | 0.009 | 0.012 | 0.007 [ 0.003 [ 0.004 | 0.003 | 0.003 | 0.003 | 0.005
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.026 | 0.026 | 0.037 | 0.038 | 0.045 | 0.027 | 0.018 [ 0.017 | 0016 | 0.016 | 0.018 | 0.024
BEHEORSIE (ppm) | 0.012 | 0.011 | 0014 | 0017 | 0.019 | 0.015| 0.007 [ 0.009 | 0.008 | 0.007 | 0.007 | 0.010
KBTI RINIR &R AMAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
i 7E B (BsFEDD 716 | 741 718 | 743| 740 713 740 715 741 742 | 667 | 742
AEHiE (ppm) | 0.007 [ 0.006 | 0.004 | 0.006 | 0.009 | 0.004 [ 0.002 [ 0.003 | 0.002 | 0.002 | 0.002 | 0.004
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.019 | 0.026 [ 0.026 [ 0.031 [ 0.022 | 0.021 | 0.013 | 0.037 | 0.016 | 0.015 | 0.018 [ 0.019
BTEHENRESIE (ppm) | 0.010 | 0.011 [ 0.007 [ 0.011 | 0.017 | 0.012 | 0.004 | 0.007 | 0.008 | 0.007 [ 0.007 | 0.009




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H

48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38

AR £ X B L R 2 A AMBERH (8) 30 31 30 31 31 30 31 30 31 31 27 31
8 7E B (B5FE) 715 741 77| 742 41| T14| 1M 716 | 742 742| 661 741

ATy{E (ppm) | 0.006 [ 0.006 [ 0.008 | 0.006 | 0.009 | 0.006 [ 0.003 [ 0.004 | 0.003 | 0.003 | 0.003 [ 0.005

1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0

B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.022 | 0.026 [ 0.020 [ 0.033 [ 0.022 | 0.022 | 0.016 | 0.019 | 0.014 | 0.016 | 0.012 [ 0.022

BEHEORSIE (ppm) | 0.010 | 0.012 | 0012 | 0011 | 0.015| 0.014 | 0.006 [ 0.009 | 0.008 | 0.008 | 0.007 | 0.010

KRR X KEFRER AUAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E BE R (BRS) [ 716 | 741 | 718| 742 739 716| 742 713 740 742| 668 741

AEHE (ppm) | 0.006 [ 0.005 | 0.007 | 0.007 | 0.007 | 0.005| 0.002 [ 0.004 | 0.003 | 0.003 | 0.003 | 0.004

1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0

B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0

1RHECRSE (ppm) | 0.019 [ 0.024 | 0.024 | 0.032 | 0.018 | 0.018 | 0.008 [ 0.015| 0.015| 0.015| 0.013 | 0.018

BEHEORSIE (ppm) | 0.010 | 0.009 [ 0011 | 0012 | 0.012 | 0.010 | 0.004 [ 0.007 | 0.009 | 0.007 | 0.008 | 0.010

RBRATH R X BB/ AMAEBH (/) 30 31 30 31 28 30 31 30 31 31 28 31
i 7E B (BsFEDD 715 741 718 | 742 677| 718 741 710 | 741 742 | 667 | 741

AEHiE (ppm) | 0.006 [ 0.006 | 0.008 | 0.007 | 0.008 | 0.004 [ 0.003 [ 0.004 | 0.003 | 0.003 | 0.003 | 0.004

1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0

BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.017 | 0.025 [ 0.024 [ 0.031 [ 0.022 | 0.016 | 0.012 | 0.014 | 0.013 | 0.015| 0011 | 0.016

BTEHENRESIE (ppm) | 0.009 | 0.011 [ 0.012 | 0.012 | 0.017 | 0.009 | 0.006 | 0.008 | 0.008 | 0.008 [ 0.007 | 0.009




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
ABrmE IR BITINER AMBERH (8) 30 31 30 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 716 | 742 T718| 741 M| Mi1| 740 m8| 741 742 69| 742
ATy{E (ppm) | 0.007 [ 0.006 | 0.007 | 0.006 | 0.006 | 0.005 | 0.004 [ 0.005 | 0.004 | 0.004 | 0.004 [ 0.005
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.030 | 0.033 | 0.021 [ 0.032 | 0.016 | 0.022 | 0.017 | 0.020 | 0.016 | 0.022 | 0.027 [ 0.025
BEHEORSIE (ppm) | 0.011 | 0.011 | 0012 | 0013 | 0010 | 0.010 | 0.006 [ 0.010 | 0.009 | 0.011 | 0.010 | 0.010
AR EEHX EERER AUAEBH (8) 30 31 30 31 31 28 27 30 31 31 28 31
B 7E BE R (BRS) [ 717 | 740 718| 737| 741 682 657 715| 742 741 668 740
AEHE (ppm) | 0.006 [ 0.006 | 0.007 | 0.007 | 0.008 | 0.006 [ 0.003 [ 0.004 | 0.003 | 0.003 | 0.003 | 0.004
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.023 | 0.031 | 0022 | 0.035| 0023 | 0023 | 0.014 | 0015| 0016 | 0.018 | 0.014 | 0.019
BEHEORSIE (ppm) | 0.011 | 0.013 | 0013 | 0014 | 0013 | 0.013 | 0.005 [ 0.008 | 0.009 | 0.008 | 0.007 | 0.010
KPR TEE A X SERER AMAEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
i 7E B (BsFEDD 712 1M 718 | 742 739| 716 742 714 742 742 667| 742
AEHiE (ppm) | 0.007 [ 0.006 | 0.008 | 0.009 | 0.009 | 0.007 [ 0.003 [ 0.004 | 0.003 | 0.003 | 0.003 | 0.005
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.023 | 0.029 [ 0.026 [ 0.037 [ 0.025 | 0.022 | 0.016 | 0.018 | 0.014 | 0.018 | 0.015 [ 0.023
BTEHENRESIE (ppm) | 0.011 | 0.013 | 0.013 | 0.017 [ 0.015| 0.016 | 0.006 | 0.010 | 0.008 | 0.008 | 0.008 [ 0.012




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H

48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38

PN ] = JEST/NERR AMBERH (8) 30 31 30 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 715 741 T718| 741 41| 75| 739 715 741 | 740 67| 742

ATy{E (ppm) | 0.006 [ 0.005 | 0.006 | 0.005 | 0.008 | 0.006 [ 0.003 [ 0.003 | 0.003 | 0.003 | 0.003 | 0.004

1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0

B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.024 | 0.022 | 0.018 [ 0.024 | 0.026 | 0.021 | 0.010 | 0.013 | 0.013 | 0.017 | 0.011 [ 0.023

BEHEORSIE (ppm) | 0.009 [ 0.008 | 0.009 | 0.010 | 0.013 | 0.012 | 0.005 | 0.008 | 0.007 | 0.008 | 0.006 [ 0.011

KiEHEER X FHEILNER AUAEBRH (8) 30 31 30 31 30 30 31 30 31 31 28 31
B 7E BE R (BRS) [ 717 741 718| 742 734 T7| 41| 77| 741 742 667 742

AEHE (ppm) | 0.006 [ 0.005 | 0.006 | 0.006 | 0.007 | 0.005 | 0.004 [ 0.003 | 0.003 | 0.002 | 0.003 | 0.004

1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0

B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0

1RHECRSE (ppm) | 0.017 [ 0.022 | 0.024 | 0.030 | 0.020 | 0.019 [ 0.010 [ 0013 | 0014 | 0.015| 0.011 | 0.016

BEHEORSIE (ppm) | 0.009 [ 0.009 [ 0.011 | 0.010| 0.013 | 0.012 | 0.006 [ 0.007 | 0.008 | 0.008 | 0.007 [ 0.009

AERHEZIR  |mEFRAR AMAEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
i 7E B (BsFEDD 716 | 742| 718 742 739 716 | 741 716 | 742| 742| 670 740

AEHiE (ppm) | 0.009 [ 0.007 | 0.009 | 0.007 | 0.008 | 0.006 | 0.006 [ 0.007 | 0.005 | 0.006 | 0.007 | 0.008

1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0

BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.029 | 0.029 [ 0.029 [ 0.033 [ 0.025 | 0.024 | 0.027 | 0.026 | 0.017 | 0.024 | 0.034 [ 0.030

BTEHENRESIE (ppm) | 0.015| 0.013 | 0.013 [ 0.013 | 0.014 | 0011 | 0.011 | 0.015| 0.010| 0.013 | 0.016 [ 0.018




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H

48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38

] DHF AHAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 715 739 714| 740| 738 716| 740 712| 737 741 666 | 739

ATy{E (ppm) | 0.011 | 0.009 [ 0,012 | 0010 | 0.012 | 0.009 [ 0.008 [ 0.007 | 0.005 | 0.005 | 0.007 | 0.008

1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0

B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.036 | 0.033 [ 0.066 [ 0.058 | 0.068 | 0.041 | 0.023 | 0.024 | 0.048 | 0.020 [ 0.031 | 0.027

BEHEORSIE (ppm) | 0.015 | 0.014 | 0017 | 0.020 | 0.025 | 0.017 [ 0.011 [ 0.012 | 0.009 | 0.011 | 0.014 | 0.013

) EF AUAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E BE R (BRS) [ 713 739 716| 740 738| 716 | 739 714 739 741| 666 739

AEHE (ppm) | 0.009 [ 0.008 [ 0.009 | 0.008 | 0.008 | 0.006 [ 0.005 | 0.006 | 0.006 | 0.005| 0.006 | 0.006

1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0

B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0

1RHECRSE (ppm) | 0.078 [ 0.039 | 0.045 | 0.054 | 0.030 | 0.024 [ 0.032 | 0.024 | 0.029 | 0.033 | 0.028 | 0.027

BEHEORSIE (ppm) | 0.014 | 0.014 | 0015 0019 | 0.013 | 0.013 | 0.009 [ 0.010 | 0011 | 0.012 | 0.013 | 0.011

R niE AMAEBH (/) 30 31 30 31 31 30 28 30 31 31 28 31
i 7E B (BsFEDD 713 739| 715( 740 740 715 711 715 738| 740| 667 738

AEHiE (ppm) | 0.010 [ 0.009 [ 0.011 | 0009 | 0.011 | 0.009 [ 0.007 [ 0.008 | 0.007 | 0.007 | 0.008 | 0.008

1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0

BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.062 | 0.062 [ 0.054 [ 0.067 | 0.064 | 0.067 | 0.069 | 0.038 | 0.025 | 0.040 [ 0.042 | 0.036

BTEHENRESIE (ppm) | 0.017 | 0.015| 0.017 [ 0.023 [ 0.025 | 0.022 | 0.017 | 0.013 | 0.013 | 0.015| 0.015 | 0.013




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
] i AMBERH (8) 30 31 30 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 716 | 738| 713| 740| 738 715| 740 714| 739 737 667| 739
ATy{E (ppm) | 0.008 [ 0.007 [ 0.008 | 0.008 | 0.008 | 0.006 | 0.006 [ 0.006 | 0.004 | 0.004 | 0.005 | 0.006
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.025| 0.028 [ 0.071 [ 0.034 [ 0.029 | 0.024 | 0.023 | 0.024 | 0.016 | 0.020 [ 0.019 | 0.019
BEHEORSIE (ppm) | 0.011 | 0.013 | 0015 0013 | 0012 | 0.011 [ 0.009 [ 0.012 | 0.009 | 0.011 | 0.010 | 0.010
) =% ASBIERH (8) 30 30 30 31 31 30 31 28 31 31 28 31
B 7E BE R (BRS) [ 715 735 714| 739 736| 716| 739 686 737 738| 666 740
AEHE (ppm) | 0.009 [ 0.008 [ 0.010 | 0.010 | 0.010 | 0.007 | 0.006 [ 0.007 | 0.006 | 0.006 | 0.006 | 0.007
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.050 [ 0.033 | 0.031 | 0.032 | 0.036 | 0.029 [ 0.016 [ 0.022 | 0.018 | 0.024 | 0.049 | 0.026
BEHEORSIE (ppm) | 0.014 | 0.013 | 0015 0015 | 0.016 | 0.013 | 0.008 [ 0.013 | 0011 | 0.014| 0.013 | 0.012
] E2E NS AMAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
i 7E B (BsFEDD 714 740| T715| 740 739| 716 | 739 | 714 740| 740(| 668 738
AEHiE (ppm) | 0.006 [ 0.006 | 0.007 | 0.005 | 0.005 | 0.004 | 0.004 [ 0.005 | 0.004 | 0.004 | 0.004 | 0.004
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.017 | 0.024 | 0.016 [ 0.034 [ 0.016 | 0.014 | 0.010 | 0.013 | 0.013 | 0.021 | 0.018 [ 0.013
BTEHENRESIE (ppm) | 0.008 | 0.012 [ 0.011 [ 0.008 | 0.009 | 0.007 | 0.006 | 0.008 | 0.008 | 0.011 [ 0.008 | 0.009




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
= l=E FHMHAPRAR AMBIERH (8) 30 31 26 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 711 735 621 734 731 71| 734 709| 733| 737| 662 734
ATy{E (ppm) | 0.003 [ 0.002 | 0.004 | 0.003 | 0.003 | 0.002 [ 0.001 [ 0.002 | 0.002 | 0.002 | 0.003 | 0.002
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.014 | 0.022 [ 0.015 | 0.034 [ 0.015| 0.015| 0.007 | 0.010 | 0.010 | 0.017 | 0.027 [ 0.015
BEHEORSIE (ppm) | 0.005 [ 0.007 [ 0.006 | 0.008 | 0.006 | 0.005 | 0.003 [ 0.005| 0.006 | 0.009 | 0.012 [ 0.007
Erhh gz AUAEBH (8) 30 31 30 13 31 30 31 30 31 29 28 31
B 7E BE R (BRS) [ 717 | 742 718| 342 741 718 741 718 742 720 670 742
AEHE (ppm) | 0.008 [ 0.006 | 0.009 | 0.008 | 0.008 | 0.006 [ 0.004 [ 0.004 | 0.003 | 0.002 | 0.003 | 0.004
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.023 | 0.034 | 0032 | 0.025| 0019 | 0.021 [ 0.014 [ 0.014 | 0014 | 0.015| 0.017 | 0.020
BEHEORSIE (ppm) | 0.012 | 0.011 | 0012 0013 | 0013 | 0.011 [ 0.006 [ 0.007 | 0.007 | 0.007 | 0.006 | 0.008
Erhmh TR AMAEBH (/) 30 31 22 28 31 30 31 30 31 31 28 31
i 7E B (BsFEDD 7] 1M 554 | 680 | 742| 717 741 718 | 742| 742| 670 742
AEHiE (ppm) | 0.007 [ 0.006 | 0.009 | 0.007 | 0.005 | 0.006 | 0.004 [ 0.004 | 0.003 | 0.003 | 0.003 | 0.004
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.022 | 0.028 [ 0.029 [ 0.020 [ 0.013 | 0.013 | 0.014 | 0.014 | 0.014 | 0.013 | 0.016 [ 0.018
BTEHENRESIE (ppm) | 0.009 | 0.011 [ 0.017 [ 0.013 | 0.008 | 0.009 | 0.006 | 0.008 | 0.008 [ 0.007 [ 0.007 | 0.009




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
AT AT FESEE AMBIERH (8) 30 31 28 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 714 739 e684| 729| 738 710| 740| 710| 737 739 666| 736
ATy{E (ppm) | 0.005 [ 0.004 | 0.005 | 0.004 | 0.005| 0.005 | 0.003 [ 0.003 | 0.003 | 0.003 | 0.004 [ 0.005
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.013 | 0.060 [ 0.025 | 0.018 | 0.015| 0.017 | 0.009 | 0.013 | 0.012 | 0.015 | 0.013 | 0.016
BEHEORSIE (ppm) | 0.008 [ 0.010 [ 0.008 | 0.006 | 0.010 | 0.009 [ 0.005 [ 0.007 | 0.007 | 0.008 | 0.007 [ 0.009
W H T WwHETEHEEE AUAEBRH (8) 27 31 30 31 31 29 31 30 31 31 28 31
B 7E BE R (BERS) | 667 | 743 719| 743| 742 708| 743 716| 743 742 671 743
AEHE (ppm) | 0.008 [ 0.006 | 0.006 | 0.005 | 0.006 | 0.006 | 0.005 | 0.006 | 0.004 | 0.004 | 0.005 | 0.006
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.017 [ 0.022 | 0,026 | 0019 | 0.014 | 0013 | 0.012 | 0015| 0013 | 0.014| 0013 | 0.016
BEHEORSIE (ppm) | 0.011 | 0.009 | 0.008 | 0.008 | 0.009 | 0.009 [ 0.007 [ 0.009 | 0.008 | 0.008 | 0.009 [ 0.011
W H T wHETALELE AMAEBH (/) 26 31 30 31 31 30 30 30 31 31 28 31
i 7E B (BsFEDD 649 | 743| T719| 743| 742| 719 737 719 743 743| 671 743
AEHiE (ppm) | 0.006 [ 0.005 | 0.005 | 0.004 | 0.005| 0.004 [ 0.003 [ 0.004 | 0.004 | 0.004 | 0.004 | 0.005
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.013 | 0.041 [ 0.027 [ 0.021 [ 0017 | 0.013 | 0.008 | 0.015| 0.012 | 0.015 | 0.012 | 0.016
BTEHENRESIE (ppm) | 0.008 | 0.008 [ 0.007 [ 0.007 [ 0.009 | 0.007 | 0.005| 0.007 | 0.007 [ 0.007 [ 0.008 | 0.009




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
239( BIERA = =]
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
W T wHEMIIIE AMBIERH (8) 29 31 23 30 31 29 28 28 31 31 28 30
8 7E B (B¥RE) | 697 | 737 589 727 739| 696| 675| 703| 737| 739 666 713
ATy{E (ppm) | 0.007 [ 0.006 [ 0.007 | 0.007 | 0.006 | 0.006 | 0.005 | 0.006 | 0.004 | 0.004 | 0.005 | 0.006
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.017 | 0.024 [ 0.025 | 0.027 | 0.016 | 0.019 | 0.010 | 0.016 | 0.014 | 0.018 [ 0.014 | 0.017
BEHEORSIE (ppm) | 0.011 | 0.009 | 0.010 | 0.009 | 0.010 | 0.010 | 0.007 [ 0.009 | 0.009 | 0.009 | 0.010 [ 0.011
=Y =Y AUAEBRH (8) 30 31 30 31 29 30 31 29 29 28 27 31
B 7E BE R (RsRS) [ 714 737 717| 737| 73| 716| 739 705 697 692| 651 737
AEHE (ppm) | 0.003 [ 0.002 | 0.002 | 0.002 | 0.002 | 0.002 [ 0.002 [ 0.003 | 0.002 | 0.002 | 0.003 | 0.003
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.010 [ 0.009 | 0.009 | 0.009 | 0.014 | 0.009 [ 0.009 [ 0.017 | 0.009 | 0.012 | 0.009 [ 0.015
BEHEORSIE (ppm) | 0.005 [ 0.004 [ 0.005 | 0.005 | 0.006 | 0.005 | 0.003 [ 0.005| 0.005 | 0.006 | 0.005 | 0.007
EHm =Yk AMAEBH (/) 30 31 30 31 31 30 31 30 21 31 28 31
i 7E B (BsFEDD 718 735| 716| 735 740| 717| 740 716| 518| 742 668 737
AEHiE (ppm) | 0.002 [ 0.004 | 0.005 | 0.004 | 0.004 | 0.003 | 0.003 [ 0.003 | 0.003 | 0.002 | 0.003 | 0.003
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.007 | 0.010 [ 0.027 [ 0.009 [ 0.014 | 0.007 | 0.012 | 0.012 | 0.010 | 0.011 | 0.009 [ 0.010
BTEHENRESIE (ppm) | 0.004 | 0.005 | 0.008 [ 0.006 [ 0.007 | 0.004 | 0.003 | 0.005| 0.006 | 0.005 | 0.005 [ 0.005




“BemE ( so2 : AFfE ) MEFELZ KB
TR O17E TR 185
1 () BTHF BERA E H

48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38

BiEm BIFmWAELE AHAEBH (8) 30 31 30 31 31 30 31 30 31 31 27 31
8 7E B (B5FE) 715 740 714| 740 737 715| 738 715| 737 734 659 737

ATy{E (ppm) | 0.006 [ 0.005 | 0.006 | 0.006 | 0.005| 0.005 | 0.003 [ 0.004 | 0.004 | 0.004 | 0.004 | 0.004

1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0

B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.018 | 0.022 [ 0.017 [ 0.037 | 0012 | 0.014 | 0.012 | 0.012 | 0.012 | 0.020 [ 0.027 | 0.016

BEHEORSIE (ppm) | 0.009 [ 0.010 [ 0.009 | 0.010 | 0.008 | 0.008 [ 0.006 [ 0.008 | 0.008 | 0.010 | 0.012 [ 0.009

SO F—AER(ER) AUAEBH (8) 29 31 29 29 28 25 31 30 31 31 28 31
B 7E BE R (BERS) [ 711 | 739 710| 727| 692| et16| 738| 715 737 739| 667 737

AEHE (ppm) | 0.006 [ 0.005 | 0.007 | 0.007 | 0.005| 0.006 [ 0.004 [ 0.004 | 0.003 | 0.003 | 0.004 | 0.004

1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0

B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0

1RHECRSE (ppm) | 0.016 [ 0.021 [ 0.025| 0.032 | 0016 | 0.017 [ 0.012 [ 0013 | 0013 | 0013 | 0.011 | 0015

BEHEORSIE (ppm) | 0.010 | 0.009 [ 0.010 | 0.010 | 0.011 | 0.010 | 0.006 [ 0.008 | 0.007 | 0.007 | 0.007 [ 0.009

SFAT™ FETAERKA) AMAEBH (/) 29 31 30 31 31 30 31 30 31 31 23 31
i 7E B (BsFEDD 710 739 | 71 732 737| 714 737 715 736 732| 569 | 739

AEHiE (ppm) | 0.005 [ 0.004 | 0.005| 0.006 | 0.005| 0.004 [ 0.003 [ 0.003 | 0.002 | 0.002 | 0.003 | 0.003

1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0

BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.016 | 0.019 [ 0.025 [ 0.030 [ 0.016 | 0.014 | 0.011 | 0.009 | 0.011 | 0.013 | 0.011 [ 0.014

BTEHENRESIE (ppm) | 0.008 | 0.007 [ 0.008 [ 0.009 [ 0.011 | 0.009 | 0.006 | 0.005| 0.006 | 0.007 [ 0.007 [ 0.008




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H

48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38

sEOT FEZRIER (88) AHAEBH (8) 30 31 30 30 31 30 31 30 31 30 28 31
8 7E B (B5FE) 715 739 713| 733| 738 715| 738 715| 738 732 667 739

ATy{E (ppm) | 0.005 [ 0.005 | 0.006 | 0.006 | 0.006 | 0.004 [ 0.004 [ 0.004 | 0.003 | 0.003 | 0.003 | 0.004

1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0

B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.015| 0.020 [ 0.024 [ 0.028 | 0.018 | 0.017 | 0.010 | 0.014 | 0.013 | 0.014 [ 0.012 | 0.016

BEHEORSIE (ppm) | 0.008 [ 0.009 [ 0.010 | 0.011 | 0.012 | 0.008 | 0.006 [ 0.008 | 0.008 | 0.008 | 0.007 [ 0.009

WA WE AUAEBH (8) 30 31 30 31 31 30 30 30 31 31 28 31
B 7E BE R (BsRS) [ 716 | 739 714| 738 738 715| 732 713 739 739 | 664 739

AEHE (ppm) | 0.006 [ 0.005 | 0.006 | 0.004 | 0.005| 0.004 [ 0.003 [ 0.004 | 0.004 | 0.004 | 0.004 | 0.005

1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0

B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0

1RHECRSE (ppm) | 0.011 | 0.014 | 0026 | 0.024 | 0.016 | 0.011 [ 0.008 [ 0013 | 0012 | 0.014| 0.011 | 0.017

BEHEORSIE (ppm) | 0.008 [ 0.008 | 0.009 | 0.007 | 0.010 | 0.006 [ 0.005 [ 0.007 | 0.007 | 0.008 | 0.007 | 0.010

WA™T WATRA AMAEBH (8) 30 31 30 31 31 30 30 30 31 31 28 31
i 7E B (BsFEDD 716 | 739| 715| 740 739| 715 729| 714| 739| 740 666 738

AEHiE (ppm) | 0.008 [ 0.007 [ 0.008 | 0.006 | 0.007 | 0.005 | 0.004 [ 0.006 | 0.005 | 0.005| 0.005 | 0.006

1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0

BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.015| 0.016 [ 0.032 [ 0.028 [ 0.020 | 0.016 | 0.015| 0.016 | 0.013 | 0.015 | 0.012 | 0.017

BTEHENRESIE (ppm) | 0.011 | 0.010 [ 0.011 [ 0.009 [ 0.014 | 0.009 | 0.006 | 0.010 | 0.008 | 0.009 | 0.009 [ 0.011




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H

48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38

BAH 2 b/ AMBIERH (8) 30 31 30 31 30 30 31 30 31 31 28 31
8 7E B (B5FE) 715 740 715| 739 735 713| 738 713| 740 738| 667| 740

ATy{E (ppm) | 0.005 [ 0.004 | 0.005 | 0.004 | 0.005 | 0.004 [ 0.003 [ 0.004 | 0.004 | 0.004 | 0.004 [ 0.005

1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0

B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.010 | 0.013 | 0.022 [ 0.026 | 0.015 | 0.014 | 0.008 | 0.014 | 0.011 | 0.012 | 0.010 [ 0.014

BEHEORSIE (ppm) | 0.008 [ 0.007 | 0.008 | 0.007 | 0.009 | 0.008 [ 0.004 [ 0.008 | 0.007 | 0.007 | 0.007 | 0.008

WA B AUAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E BE R (BRS) [ 715 740 715| 739 739 715| 739 713| 740 739| 666 740

AEHE (ppm) | 0.004 [ 0.005 | 0.005 | 0.004 | 0.005| 0.005 | 0.003 [ 0.004 | 0.004 | 0.003 | 0.004 | 0.005

1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0

B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0

1RHECRSE (ppm) | 0.010 | 0.016 | 0.028 | 0.031 | 0.015| 0.017 | 0.007 [ 0.012 | 0011 | 0013 | 0.011 | 0.018

BEHEORSIE (ppm) | 0.007 [ 0.008 [ 0.008 | 0.008 | 0.010 | 0.008 [ 0.005 | 0.007 | 0.007 | 0.008 | 0.007 [ 0.009

R RATRAT AMAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
i 7E B (BsFEDD 716 | 738| 715( 738 739| 714| 739 714| 734| 735 664 737

AEHiE (ppm) | 0.006 [ 0.006 | 0.007 | 0.005 | 0.006 | 0.005 | 0.004 [ 0.005 | 0.004 | 0.004 | 0.005 | 0.005

1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0

BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.013 | 0.031 | 0.028 [ 0.022 [ 0017 | 0.015| 0.011 | 0.014 | 0.011 | 0.014 | 0.015 | 0.013

BTEHENRESIE (ppm) | 0.009 | 0.009 [ 0.009 [ 0.008 [ 0.010 | 0.008 | 0.006 | 0.008 | 0.007 [ 0.008 [ 0.008 | 0.009




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHf BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
JNEm I\ERERR AMBIERH (8) 30 29 30 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 715 705 714| 739 740 715| 740 713| 737 740 667| 739
ATy{E (ppm) | 0.008 [ 0.007 [ 0.008 | 0.007 | 0.007 | 0.006 [ 0.005 | 0.006 | 0.005 | 0.005| 0.005 | 0.006
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.018 | 0.032 [ 0.019 [ 0.041 [ 0.018 | 0.018 | 0.013 | 0.014 | 0.014 | 0.019 | 0.013 [ 0.020
BEHEORSIE (ppm) | 0.012 | 0011 | 0011 | 0012 | 0012 | 0.011 | 0.007 [ 0.010 | 0009 | 0.011 | 0.009 | 0.012
NET ki AUAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E BE R (BRS) [ 715| 740 715| 737| 739 713| 740 713 732 740| 661 737
AEHE (ppm) | 0.006 [ 0.006 | 0.007 | 0.006 | 0.006 | 0.005 | 0.004 [ 0.004 | 0.005 | 0.004 | 0.005 | 0.005
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.017 [ 0.034 | 0.021 | 0.047 | 0.015| 0.016 | 0.011 [ 0.016 | 0.016 | 0.020 | 0.014 [ 0.021
BEHEORSIE (ppm) | 0.009 [ 0.010 | 0.010 | 0.009 | 0.008 | 0.009 [ 0.006 [ 0.009 | 0.009 | 0.009 | 0.009 [ 0.010
RIEHT {EBF R AMAEBH (g) (- - - - - - — — 30 31 28 31
i 7E B (B |— - - - - - - - 709 [ 720 643| 733
AEiE (ppm) [— - - - - — — — 0.001 | 0.002 | 0.002 [ 0.002
1B FEE AY0.1ppmZE it Z = BRI 22 (BfE) |— - - - - — - - 0 0 0 0
B TEEAY0.04ppmZE LR - B E () (- - - - - - - - 0 0 0 0
1BEEORSE (ppm) |— - - - - - - - 0.008 | 0.016 | 0.030 [ 0.011
BTEHENRSIE (ppm) [— - - - - — — — 0.004 | 0.007 | 0.011 [ 0.005




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
E M = HARTRA AHAEBH (8) 30 31 30 31 31 30 31 29 31 31 26 31
8 7E B (B5FE) 716 | 738| 715| 737 738 714| 738| 708| 740 739 654| 738
ATy{E (ppm) | 0.005 [ 0.004 | 0.004 | 0.004 | 0.003 | 0.003 [ 0.002 [ 0.003 | 0.004 | 0.003 | 0.003 | 0.004
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.011 | 0.023 | 0.014 [ 0.032 [ 0.010 | 0.012 | 0.007 | 0.011 | 0.013 | 0.018 | 0.012 [ 0.012
BEHEORSIE (ppm) | 0.007 [ 0.010 [ 0.008 | 0.006 | 0.007 | 0.006 | 0.004 [ 0.006 | 0.007 | 0.009 | 0.007 | 0.007
BT EEIM&RR AMBIEEH (/) 30 31 30 31 31 30 31 29 31 31 28 31
B 7E BE R (BRS) [ 716 | 739 715| 740 736| 714| 739 708| 739 739| 668 735
AEHE (ppm) | 0.005 [ 0.005 | 0.006 | 0.004 | 0.005| 0.004 [ 0.003 [ 0.003 | 0.004 | 0.003 | 0.004 | 0.005
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.013 | 0.017 | 0.024 | 0.029 | 0.016 | 0.015| 0.008 [ 0.012 | 0013 | 0.014 | 0.014 | 0.014
BEHEORSIE (ppm) | 0.008 [ 0.007 | 0.009 | 0.008 | 0.010 | 0.008 [ 0.005 [ 0.007 | 0.008 | 0.008 | 0.009 | 0.008
BRI R H AMAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
i 7E B (BsFEDD 718 739 | 714 739 742 711 743 713| 740 742 669| 738
AEHiE (ppm) | 0.006 [ 0.005 | 0.005 | 0.004 | 0.004 | 0.004 | 0.003 [ 0.003 | 0.003 | 0.004 | 0.004 | 0.005
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.014 | 0.014 | 0.025 | 0.028 [ 0.013 | 0.016 | 0.006 | 0.008 | 0.010 | 0.013 | 0.012 [ 0.015
BTEHENRESIE (ppm) | 0.010 | 0.006 [ 0.008 [ 0.012 [ 0.008 | 0.006 | 0.004 | 0.005| 0.006 | 0.007 [ 0.007 [ 0.008




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
R KEERBE2— AMBERH (8) 30 30 30 31 31 29 31 29 31 29 28 30
8 7E B (B5FE) 719 738 718| 743 741 | 714 742| T713| 742 710| 667 | 724
ATy{E (ppm) | 0.008 [ 0.008 [ 0.008 | 0.007 | 0.008 | 0.005 | 0.004 [ 0.005 | 0.005 | 0.005 | 0.005 | 0.006
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.018 | 0.032 [ 0.021 [ 0.044 [ 0.019 | 0.016 | 0.009 | 0.013 | 0.014 | 0.018 | 0.014 [ 0.018
BEHEORSIE (ppm) | 0.011 | 0.013 | 0012 0011 | 0.012 | 0.009 | 0.006 [ 0.009 | 0.009 | 0.009 | 0.009 [ 0.011
IR HRRT&RT AUAEBRH (8) 22 23 29 27 23 25 26 20 28 29 26 23
B 7E BE R (B5RS) | 562 577| 709| 659| 563| 648| 647 529 701 708| 636 601
AEHE (ppm) | 0.007 [ 0.006 | 0.005 | 0.005 | 0.005 | 0.005 | 0.004 [ 0.004 | 0.004 | 0.004 | 0.004 | 0.005
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.015 | 0.026 | 0.023 | 0.035| 0.014 | 0.014 | 0.009 [ 0.012 | 0013 | 0.015| 0.011 | 0015
BEHEORSIE (ppm) | 0.011 | 0.010 | 0.009 | 0.008 | 0.009 | 0.009 [ 0.006 [ 0.007 | 0.007 | 0.008 | 0.007 | 0.008
PAE™ PAEM&T AMAEBH (/) 30 31 29 31 31 30 31 30 31 31 27 31
i 7E B (BsFEDD 720 | 7M1 715 741 741 712 1M 719 739 741 663 | 737
AEHiE (ppm) | 0.007 | 0.006 | 0.006 | 0.007 | 0.006 | 0.005 | 0.004 [ 0.005 | 0.005 | 0.004 | 0.006 | 0.006
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.017 | 0.015 | 0.022 [ 0.028 [ 0.017 | 0.018 | 0.009 | 0.014 | 0.017 | 0.017 | 0.014 [ 0.018
BTEHENRESIE (ppm) | 0.010 | 0.009 [ 0.009 [ 0.010 [ 0.012 | 0.009 | 0.006 | 0.009 | 0.010 | 0.010 | 0.009 [ 0.011




TR EhRE ( sOo2 : AFMIE ) HERFRSE KR

R O1TE TR 18F
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
P& FIE™E AHAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 720 744 715| 743| 742 718| 738 718| 741 | 738| 667 | 741
ATy{E (ppm) | 0.007 [ 0.005 | 0.006 | 0.006 | 0.005| 0.004 [ 0.005 [ 0.006 | 0.005 | 0.004 | 0.004 [ 0.005
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.017 | 0.020 [ 0.018 [ 0.019 [ 0.014 | 0.014 | 0.009 | 0.015| 0.019 | 0.014 [ 0.014 | 0.016
BEHEORSIE (ppm) | 0.010 [ 0.008 [ 0.010 | 0.008 | 0.009 | 0.007 [ 0.006 [ 0.009 | 0.012 | 0.008 | 0.010 | 0.010
=A™ EARPER AUAEBRH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E BE R (BRS) [ 715 738 715| 740 738 716| 740 714 729 729| 666 735
AEHE (ppm) | 0.008 [ 0.008 [ 0.009 | 0.009 | 0.008 | 0.006 [ 0.005 | 0.006 | 0.005 | 0.005| 0.006 | 0.007
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.041 | 0.032 | 0.024 | 0.038 | 0.026 | 0.027 | 0.015| 0.019 | 0017 | 0.022 | 0.030 | 0.021
BEHEORSIE (ppm) | 0.012 | 0.014 | 0014 | 0013 | 0013 | 0.012 | 0.007 [ 0010 | 0012 | 0.012 | 0.014 | 0.011
=aT BETMAEERE S— AMAEBH (/) 30 31 30 31 31 30 30 30 31 31 28 31
i 7E B (BsFEDD 716 | 739| 716 737 736| 716 733 713| 740| 738 667 739
AEHiE (ppm) | 0.008 [ 0.008 [ 0.010 | 0.009 | 0.008 | 0.007 | 0.005 | 0.006 | 0.005 | 0.005| 0.006 | 0.006
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.032 | 0.030 [ 0.029 [ 0.032 [ 0.023 | 0.035 | 0.020 | 0.028 | 0.016 | 0.024 | 0.067 [ 0.028
BTEHENRESIE (ppm) | 0.012 | 0.014 | 0.014 [ 0.014 [ 0.012 | 0.015| 0.008 | 0.010 | 0.010 | 0.013 | 0.014 [ 0.012




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
BAMR RARMAEFREE 22— AMBERH (8) 30 31 30 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 715 737 710| 740 739 716| 733| 708| 740 740 666| 739
ATy{E (ppm) | 0.009 [ 0.008 [ 0.009 | 0.008 | 0.008 | 0.007 [ 0.005 | 0.007 | 0.005| 0.005| 0.005 | 0.006
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.021 | 0.025 [ 0.021 [ 0.037 | 0.020 | 0.019 | 0.013 | 0.018 | 0.015| 0.018 [ 0.014 | 0.019
BEHEORSIE (ppm) | 0.014 | 0.012 | 0012 | 0012 | 0013 | 0.011 | 0.007 [ 0.011 | 0010 | 0011 | 0.010| 0012
BAMR RABRTIBET T & AUAEBRH (8) 30 31 30 31 31 30 29 30 31 31 28 31
B 7E BE R (BRS) [ 716 | 739 711| 740| 736| 709| 707| 710| 738 740| 667 738
AEHE (ppm) | 0.007 [ 0.007 [ 0.008 | 0.007 | 0.007 | 0.006 | 0.005 | 0.006 | 0.005 | 0.005 | 0.005 | 0.006
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.017 [ 0.033 | 0.022 | 0.047 | 0017 | 0.020 [ 0.011 [ 0.016 | 0.016 | 0.019 | 0.014 [ 0.020
BEHEORSIE (ppm) | 0.011 | 0.011 | 0012 | 0011 ] 0012 | 0.011 | 0.007 [ 0.011 | 0010 | 0.011 | 0.009 | 0.012
RE™ RET&RR AMAEBH (/) 30 31 30 31 31 30 31 30 28 31 28 31
i 7E B (BsFEDD 716 | 739| 715 738 737| 716 | 739 715| 689 7M1 666 | 739
AEHiE (ppm) | 0.006 [ 0.006 | 0.006 | 0.005 | 0.005 | 0.004 [ 0.004 [ 0.005 | 0.004 | 0.005| 0.006 | 0.005
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.019 | 0.019 [ 0.016 [ 0.030 [ 0013 | 0.015| 0.012 | 0.012 | 0.012 | 0.022 [ 0.037 | 0.016
BTEHENRESIE (ppm) | 0.009 | 0.010 [ 0.010 [ 0.010 [ 0.009 | 0.008 | 0.006 | 0.008 | 0.008 | 0.011 | 0.017 [ 0.010




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 (X) BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38

XHM REMEA AMBIERH (8) 30 30 30 31 30 30 31 29 31 31 27 31
8 7E B (B5FE) 719 738 719| 742 736 | 717| 742| 713| 740 740| 666 | 742
ATy{E (ppm) | 0.005 | 0.005 | 0.006 | 0.005 | 0.005 | 0.004 [ 0.003 [ 0.003 | 0.003 | 0.003 | 0.004 | 0.004
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.011 | 0.017 [ 0.027 [ 0.031 | 0.014 | 0.016 | 0.007 | 0.018 | 0.014 | 0.016 | 0.012 [ 0.013
BEHEORSIE (ppm) | 0.007 [ 0.007 | 0.009 | 0.009 | 0.009 | 0.008 [ 0.005 | 0.007 | 0.007 | 0.007 | 0.008 | 0.008

HE ERET REERET %15 AMBIEEH (/) 30 30 30 31 31 28 31 30 31 30 28 31
B 7E BE R (RsRS) [ 718 736 715| 740 738| 696 | 740| 715 736 732| 665 737
AEHE (ppm) | 0.008 [ 0.008 | 0.009 | 0.007 | 0.007 | 0.006 [ 0.005 [ 0.005 | 0.004 | 0.005| 0.005 | 0.005
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.016 [ 0.021 [ 0021 | 0.027 | 0.015| 0.014 | 0.009 [ 0.012 | 0012 | 0.022 | 0.030 | 0.015
BEHEORSIE (ppm) | 0.011 | 0.012 | 0013 | 0012 | 0.010 | 0.009 | 0.006 [ 0.008 | 0.007 | 0.011 | 0.014 [ 0.009

\Led T WEIET 1% 15 AMAEBH (R) 25 31 30 31 31 27 31 30 31 31 28 31
i 7E B (BsFEDD 643 738 715 740 740| 653| 735 713 741 741 666| 741
AEHiE (ppm) | 0.006| 0005 0005 0.005 0.004| 0003| 0003[ 0004 0003 0.003] 0.003| 0.004
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.019| 0018 0021 0031 0017| 0.014| 0015 0021| 0012 0017 0021 0014
BTEHENRESIE (ppm) 0.01] 0.008| 0.009| 0.008[ 0.009[ 0005 0.004| 0007/ 0.007| 0008 0.01| 0.008




“BemE ( so2 : AFfE ) MEFELZ KB
TR O17E TR 185
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
NG AN HE S /INERR AHAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 7M1 741 78| 742 740 715 742 716 742 742| 668| 741
ATy{E (ppm) | 0.007 [ 0.006 | 0.008 | 0.007 | 0.007 | 0.005 | 0.004 [ 0.005 | 0.004 | 0.004 | 0.004 [ 0.005
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.024 | 0.023 [ 0.020 [ 0.020 [ 0.016 | 0.014 | 0.021 | 0.017 | 0.015| 0.016 | 0.053 [ 0.025
BEHEORSIE (ppm) | 0.010 | 0.010 [ 0,010 | 0.012 | 0.012 | 0.009 [ 0.007 [ 0.010 | 0.009 | 0.007 | 0.008 | 0.010
KEHESX BEIIT/NER AUAEBRH (8) 30 25 20 31 31 30 31 30 31 31 28 31
B 7E BE R (BRS) | 718 598 | 487 | 741 741 73| 742 717 742 742| 670 740
AEHE (ppm) | 0.007 [ 0.006 | 0.008 | 0.007 | 0.007 | 0.005 | 0.005 [ 0.005| 0.004 | 0.003 | 0.004 | 0.005
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.022 [ 0.016 [ 0017 | 0.031 | 0.018 | 0.021 [ 0.015 | 0.018 | 0.020 | 0.018 | 0.019 | 0.023
BEHEORSIE (ppm) | 0.011 | 0.009 [ 0012 | 0012 | 0.013 | 0.009 [ 0.008 [ 0.009 | 0.010 | 0.008 | 0.009 [ 0.010
Erhmh Erh&Rr AMAEBH (/) 30 31 30 31 31 29 30 30 31 31 28 31
i 7E B (BsFEDD 718 739 | 718 742 741 713 731 718 742| 740| 667 | 741
AEHiE (ppm) | 0.008 [ 0.007 | 0.006 | 0.006 | 0.008 | 0.006 | 0.004 [ 0.004 | 0.003 | 0.003 | 0.004 | 0.005
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.023 | 0.042 [ 0.027 [ 0.022 | 0.018 | 0.020 | 0.009 | 0.014 | 0.011 | 0.014 [ 0013 | 0.016
BTEHENRESIE (ppm) | 0.012 | 0.012 [ 0.010 [ 0.012 | 0.014 | 0.011 | 0.006 | 0.006 | 0.006 [ 0.007 [ 0.007 | 0.009




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
WA WR R 3 S &I P AHAEBH (8) 28 31 30 31 31 30 28 7 17 31 26 31
8 7E B (B¥RE) | 683 | 743 719 742 742| 716| 724 185| 417| 742| 658 743
ATy{E (ppm) | 0.007 [ 0.005 [ 0.005 | 0.006 | 0.006 | 0.005| 0.005 | 0.007 | 0.005| 0.005| 0.005 | 0.006
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.015| 0.023 [ 0.026 [ 0.017 [ 0.014 | 0013 | 0.012 | 0.013 | 0.012 | 0.016 | 0.015 [ 0.020
BEHEORSIE (ppm) | 0.011 | 0.008 | 0.008 | 0.010 | 0.010 | 0.008 [ 0.008 [ 0.009 | 0.008 | 0.008 | 0.010 | 0.012
=Y ST AMBIEEH (/) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E BE R (RRS) | 716 | 737 715| 738 742 716 742 718 740 742 671 733
AEHE (ppm) | 0.007 [ 0.007 | 0.007 | 0.006 | 0.006 | 0.006 [ 0.005 [ 0.005 | 0.004 | 0.004 | 0.005 | 0.004
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.016 [ 0.015 | 0019 | 0019 | 0.015| 0.013 | 0.012 | 0018 0012 | 0013 | 0.013 | 0012
BEHEORSIE (ppm) | 0.010 | 0.009 [ 0,010 | 0.010 | 0.011 | 0.009 [ 0.007 [ 0.008 | 0.007 | 0.008 | 0.008 | 0.006
O R TEEK AMAEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
i 7E B (BsFEDD 714 737 712 740 735| 713 736 | 712 737| 739 665 740
AEHiE (ppm) | 0.007 [ 0.006 | 0.007 | 0.005 | 0.006 | 0.005 | 0.004 [ 0.006 | 0.005 | 0.004 | 0.005 | 0.005
1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0
BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.016 | 0.025 [ 0.025 [ 0.028 | 0.016 | 0.014 | 0.010 | 0.015| 0.016 [ 0.015 | 0.013 | 0.016
BTEHENRESIE (ppm) | 0.010 | 0.010 [ 0.010 [ 0.009 [ 0.011 | 0.008 | 0.006 | 0.010 | 0.010 | 0.009 | 0.008 [ 0.010




“BemE ( so2 : AFfE ) MEFELZ KB
TR O17E TR 185
1 () BTHF BERA E H

48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38

BAH 1812 AHAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 716 | 738| 714| 740 736 716| 739| 713| 739 738 666| 739

ATy{E (ppm) | 0.007 [ 0.006 [ 0.007 | 0.006 | 0.006 | 0.005 | 0.005 | 0.006 | 0.005 | 0.005| 0.006 | 0.007

1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0

B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.017 | 0.014 [ 0.027 [ 0.025| 0.017 | 0.015| 0.011 | 0.016 | 0.013 | 0.014 [ 0.012 | 0.016

BEHEORSIE (ppm) | 0.010 | 0.008 | 0.010 | 0.010 | 0.011 | 0.007 [ 0.007 [ 0.010 | 0.009 | 0.009 | 0.009 [ 0.011

WA iR AUAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E BE R (BsRS) [ 716 | 739 716| 739 738 715| 736| 715 739 740| 667 739

AEHE (ppm) | 0.006 [ 0.006 | 0.007 | 0.005 | 0.006 | 0.005 | 0.004 [ 0.005 | 0.004 | 0.004 | 0.004 | 0.005

1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0

B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0

1RHECRSE (ppm) | 0.014 | 0.018 | 0.029 | 0.028 | 0.016 | 0.016 [ 0.009 [ 0.015| 0012 | 0.013 | 0.011 | 0.018

BEHEORSIE (ppm) | 0.010 | 0.010 [ 0.011 | 0.009 | 0.011 | 0.008 [ 0.007 [ 0.008 | 0.007 | 0.007 | 0.008 | 0.010

J\ET AFE AMAEBH (8) 30 31 30 30 31 30 31 30 26 29 28 31
i 7E B (BsFEDD 710 | 733| 710 729 732| 710 732 709| 632| 692 657 727

AEHiE (ppm) | 0.003 [ 0.002 | 0.003 | 0.003 | 0.003 | 0.002 [ 0.002 [ 0.003 | 0.002 | 0.002 | 0.002 | 0.003

1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0

BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.012 | 0.025 | 0.015( 0.039 [ 0.011 | 0.010 | 0.008 | 0.010 | 0.010 | 0.013 | 0.009 [ 0.013

BTEHENRESIE (ppm) | 0.006 | 0.006 [ 0.006 [ 0.006 [ 0.006 | 0.005| 0.003 | 0.006 | 0.005 | 0.007 [ 0.006 | 0.007




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H

48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38

R R NER AMBIERS (8) 30 31 30 31 31 30 31 30 31 31 28 31
8 7E B (B5FE) 716 | 739 714| 740| 738 715| 740 713| 740 738 664 739

ATy{E (ppm) | 0.007 [ 0.006 [ 0.008 | 0.006 | 0.006 | 0.006 | 0.006 [ 0.006 | 0.005 | 0.006 | 0.006 | 0.006

1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0

B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.024 | 0.026 [ 0.025 [ 0.032 [ 0.016 | 0.018 | 0.014 | 0.020 | 0.014 | 0.020 | 0.014 [ 0.018

BEHEORSIE (ppm) | 0.010 | 0.012 | 0012 | 0011 | 0.010| 0.010 | 0.009 [ 0.010 | 0010 | 0.011 | 0.009 [ 0.011

HiEm EiRmEm AMBIEEH (/) 30 31 30 31 31 30 31 30 30 31 28 31
B 7E BE R (BRS) [ 716 | 739 714| 740 736 714| 739 715 734 737| 665 739

AEHE (ppm) | 0.007 [ 0.006 | 0.007 | 0.005 | 0.006 | 0.005 | 0.004 [ 0.005 | 0.004 | 0.004 | 0.005 | 0.005

1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0

B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0

1RHECRSE (ppm) | 0.016 [ 0.025 [ 0.029 | 0.023 | 0.016 | 0.016 [ 0.010 [ 0.015| 0013 | 0.014| 0.012 | 0.016

BEHEORSIE (ppm) | 0.010 [ 0.008 | 0.010 | 0.008 | 0.010 | 0.008 [ 0.006 [ 0.009 | 0.008 | 0.008 | 0.009 | 0.010

=aT HER—ILMBS BMAEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
i 7E B (BsFEDD 716 | 739| 714 739 737| 716 | 740 714 739 7M1 666 | 739

AEHiE (ppm) | 0.008 [ 0.006 [ 0.007 | 0.007 | 0.007 | 0.006 | 0.005 | 0.006 | 0.005 | 0.005| 0.006 | 0.006

1EFFE B AN0. 1ppmZ it 2 - B R 4 (B5RE) 0 0 0 0 0 0 0 0 0 0 0 0

BT EAY0.04ppmZE LR - B E (/) 0 0 0 0 0 0 0 0 0 0 0 0

1BEEORSE (ppm) | 0.035| 0.028 [ 0.016 [ 0.034 [ 0.021 | 0.019 | 0.014 | 0.017 | 0.013 | 0.019 [ 0.036 | 0.016

BTEHENRESIE (ppm) | 0.011 | 0.012 | 0.011 [ 0.010 | 0.010 | 0.011 | 0.007 | 0.009 | 0.009 | 0.011 | 0.014 [ 0.010




“BemE ( so2 : AFfE ) MEFELZ KB
R O1TE TR 18F
1 () BTHF BERA E H
48 | 58 | 6A | 7R | 8B | 9A | 10A | 1A | 12B | 1B | 2B | 38
BAMR RABRMIREFRERE LV 2— |BAUATEAH (8) 30 31 30 31 30 30 31 30 31 31 28 30
8 7E B (B5FE) 716 | 739 714| 740 733 714| 740 714| 738 739 666 | 731
BEME (ppm) | 0.008 [ 0.008 [ 0.009 | 0.007 | 0.008 | 0.006 [ 0.005 | 0.007 | 0.005| 0.005| 0.006 | 0.006
1B RIMEAS0.1ppmZ # % 1= BEFEI 2L (BFFED) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04pomE B Z = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.018 | 0.034 [ 0.026 [ 0.036 [ 0.020 | 0017 | 0.012 | 0.016 | 0.015| 0.019 | 0.015 [ 0.021
BEHEORSIE (ppm) | 0.012 | 0.012 | 0012 | 0010 | 0012 | 0011 | 0.007 [ 0.012| 0011 | 0011 | 0.010 | 0.013
OB T (= 5% OB AUAEBH (8) 30 31 30 31 31 30 31 30 29 31 28 31
B 7E BE R (BRS) [ 710 733| 708| 735| 732 710| 735| 708 721 734| 661 732
AEHE (ppm) | 0.002 [ 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.001 [ 0.002 | 0.002 | 0.002 | 0.002 | 0.002
1B REMEAY0. 1ppmZE #8 % - BFFEI 5K (B 0 0 0 0 0 0 0 0 0 0 0 0
B fEAY.04ppmZ LR = B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1RHECRSE (ppm) | 0.010 | 0.012 | 0020 | 0.022 | 0.012 | 0.010 | 0.005 | 0.011 | 0.010| 0.012 | 0.009 [ 0.011
BEHEORSIE (ppm) | 0.005 [ 0.004 | 0.004 | 0.006 | 0.006 | 0.004 [ 0.002 [ 0.006 | 0.006 | 0.006 | 0.005 | 0.006
AMAEBH q=D)
B 7E BF (BsFEDD
RA¥EHiE (ppm)
1B REEAY0.1ppmZE #8 % 1= BFFEI 5K (B5RE)
B F9EAHY0.04ppmZ 2 7= B K (82)
1BHECRSIE (ppm)
BEHEORSIE (ppm)




